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MODEL QUESTION PAPER -2 [UNSOLVED]

Section B

1. Without using trigonometric tables, find the value of the

following: 

Watch Video Solution

( ) + ( ) + 2tan 15∘ tan 45∘ tan 75∘tan 20∘

(cos ec70∘ )2

cot 20∘

(sec 70∘ )2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v3Xfl2UM9mA9


Section C

2. What would be the area of a circle whose circumference is

22 cms. ?

Watch Video Solution

3. What would be the area of a circle whose circumference is

22 cms. ?

Watch Video Solution

1. Show that  is an irrational number.

Watch Video Solution

5 − 2√3

https://dl.doubtnut.com/l/_VAkCwoKk77fb
https://dl.doubtnut.com/l/_3SKsuO7mgY10
https://dl.doubtnut.com/l/_AvlUoDjWYisk


2. What is the quotient and remainder, when

 is divided by 

Watch Video Solution

3x4 + 5x3 − 7x2 + 2x + 2 x2 + 3x + 1.

3. Solve for x and y: 

Watch Video Solution

+ = 2

− = 1

⎫
⎬⎭x, y ≠ 0

5
x

1
y

6
x

3
y

4. Determine an AP whose 3rd term is 16 and when 5th term

is subtracted from 7th term, we get 12.

Watch Video Solution

https://dl.doubtnut.com/l/_AvlUoDjWYisk
https://dl.doubtnut.com/l/_j4zdIpLyS6tl
https://dl.doubtnut.com/l/_begAEkSEdML3
https://dl.doubtnut.com/l/_uIXs4SZAgsyJ


5. For what value of k the points A(1, 5), B(k, 1) and C(4, 11) are

collinear?

Watch Video Solution

6. In Fig. 3, given, XP/PY = XQ/QZ = 3. If the area of

, then find the area of the quadrilateral

PYZQ. 

ΔXYZis32cm2

https://dl.doubtnut.com/l/_uIXs4SZAgsyJ
https://dl.doubtnut.com/l/_ozf8hh5JVS7m
https://dl.doubtnut.com/l/_THrvOS2De6ru


Watch Video Solution

7. A circle touches the side BC of a  at a point P and

touches AB and AC when produced at Q and R respectively.

Show that AQ = 1/2(Perimeter of ).

Watch Video Solution

ΔABC

ΔABC

8. One card is drawn from a well shuffled deck of 52 cards.

Find the probability of getting 

Non face card

Watch Video Solution

https://dl.doubtnut.com/l/_THrvOS2De6ru
https://dl.doubtnut.com/l/_ZsM0EvqHjyGz
https://dl.doubtnut.com/l/_r50p4b3556iN


9. One card is drawn from a well shuffled deck of 52 cards.

Find the probability of getting 

Black king or a Red queen

Watch Video Solution

10. One card is drawn from a well shuffled deck of 52 cards.

Find the probability of getting 

Spade card.

Watch Video Solution

11. Find the missing frequency f if the mode of the given data

is 154. 

https://dl.doubtnut.com/l/_uJhAHnQXEedV
https://dl.doubtnut.com/l/_w54xf6MCn4Ah
https://dl.doubtnut.com/l/_asEvg2MRqrEt


Section D

Watch Video Solution

1. A motor boat whose speed is 18 km/h in still water takes 1

hour more to go 24 km upstream then to return downstream

to the same spot. Find the speed of the stream.

Watch Video Solution

2. Prove that in a triangle, if the square of one side is equal

to the sum of the squares of the other two sides, the angle

opposite to the first side is a right angle. Using the converse

of above, determine the length of an altitude of an

equilateral triangle of side 2 cm.

https://dl.doubtnut.com/l/_asEvg2MRqrEt
https://dl.doubtnut.com/l/_6TDf6nMPleM9
https://dl.doubtnut.com/l/_H8c7NsJRyhHB


Watch Video Solution

3. Draw a circle ofradius 4 cm. Draw two tangents to the

circle inclined at an angle of  to each other.

Watch Video Solution

60∘

4. Draw a circle ofradius 4 cm. Draw two tangents to the

circle inclined at an angle of  to each other.

Watch Video Solution

60∘

5. Draw a circle ofradius 4 cm. Draw two tangents to the

circle inclined at an angle of  to each other.

h id l i

60∘

https://dl.doubtnut.com/l/_H8c7NsJRyhHB
https://dl.doubtnut.com/l/_YqnEJVnucUFe
https://dl.doubtnut.com/l/_WxfTPfJShtqB
https://dl.doubtnut.com/l/_lQw6ZplJBXOM


Watch Video Solution

6. Draw a circle ofradius 4 cm. Draw two tangents to the

circle inclined at an angle of  to each other.

Watch Video Solution

60∘

7. A fire at a building A is reported on telephone to two fire

stations  and , 10 km apart from each other on a

straight road.  observes that the fire is at an angle of 

to the road and  observes that it is at angle of 

F_1` sends its team. 

) Which value is depicted in the decision of higher authority?

Watch Video Solution

F1 F2

F1 60∘

F2

45∘
omit. A or d ∈ g → decisionbyhigherauth or itystation

https://dl.doubtnut.com/l/_lQw6ZplJBXOM
https://dl.doubtnut.com/l/_jYYbI2KZSG4Q
https://dl.doubtnut.com/l/_cQkJhOkfa9d9


8. In Fig. 4, a sector OAP of a circle with centre O, containing

. AB is perpendicular to the radius OA and meets OP

produced at B. Prove that the perimeter of shaded region is

r. 

[tan 0 + sec 0 +  


h id l i

∠0

− 1]
π0

180∘

https://dl.doubtnut.com/l/_cQkJhOkfa9d9
https://dl.doubtnut.com/l/_ckODGCHhXV7o


Watch Video Solution

9. A vessel is in the for1n of an inverted cone. Its height is 8

cm and the radius of its Lop, which is open, is 5 cnt. It is filled

with water up to the brim. When lead shots, each of which is

a sphere of radius 0.5 cn are dropped nto the vessel, one

fourth of the water flows out. Find the number of lead shots

dropped in the vessel.

Watch Video Solution

10. Find the mean, nmode and median for the following data:

Watch Video Solution

https://dl.doubtnut.com/l/_ckODGCHhXV7o
https://dl.doubtnut.com/l/_l5BNReNceHob
https://dl.doubtnut.com/l/_k4lq746RgWHZ



